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         1.Rg1+!  1.Rxc2? Rxg7!=,  not  1…Rxd7+? 2.Kc8 Rxg7 3.Kxb8 Rh7 4.Ka8! 

         Kb1 5.Rxc3  h2 6.b8Q h1Q 7.b7+/-   1… Kb2  2.g8Q  Rxd7+   2…h2  3.Rh1    

         3.Kc8 h2!  3…Rd1 4.Rg5! c1Q 5.Rb5+ Kc2  8.Qb3+ Kd2 9.Qa2+  4.Rh1!    

         4.Rf1? Rd1  5.Rf5 h1Q! 6.Rb5+ Kc1 7.Qg5+ Rd2  8.Kxb8 Qg2=   4…c1Q  

         5.Rxc1 Kxc1 6.Qh8!   6.Qg5+? Rd2! =,  not  6…Kb2? (6…Kb1 7.Qb5+)  

         7.Qh5 c2  8.Qxh2   6… Kb1  or 6…c2  7.Qxh2 Kb1   7.Qxh2  7.Kxb8? c2   

         8.Qxh2 c1Q =  7…c2  8.Qxb8!! - point,  try  8.Qxc2+?  Kxc2  9.Kxb8 Rd3!= or 

         8.Qh1+? c1Q+  9.Qxc1+ Kxc1 10.Kxb8 Rd2!= (two study in study with draw ) 

         8…Rf7!  9.Qc7 Rf8+  10.Kd7 c1Q  11.Qxc1+!  11.b8Q?!  Qd1+!  (11…Rxb8 

         12.Qxb8 Qd1+ 13.Qd6!+/-)  12.Ke7 Rxb8 13.Qxb8  Qe2+!=   11…Kxc1 12.Kc7! 

         12.Kc6? Kb2 13.Kb5 Kb3  14. Ka6 Kb4 15.Ka7 Kb5!= (15…Rf7? 16.Ka8!+/-) 

         12…Rf7+  13.Kc6 Rf8  14.Kb5!  Kb2 15.Ka6  Kb3 16.Ka7 Kb4  16…Rf7 17.Ka8!+/-  

         17.b8Q+.-   

Figured play against the passed pawns leads to a critical position on the 8th move, 
in which White has to make a choice from 3 sequels, each of which leads to the 
same position  (K+2P --> K + T). But only one from them win - original synthesis.  
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                1.Kf6   1.Nc7? Ke5!= (1...Kd6? 2.Ne8+ Ke7 3.Nf6+/-)  

                1...Kd6 2.Kf5!   2.Nb6? Kc7 3.N8d7 Kc6 4.Kf5 Kc7!  (4...f6? 5.Ke6!+/-) 5.Kf6  

                Kc6!= pos.draw 

                2...f6  3.Nb6  3.Na6? (3.Ke4? f5=) 3...Kc6 4.Nac7 Kb7=  

                3...Kc7 4.N8d7 Kc6  5.Ke6!! – point,  5.Ke4? f5+ 6.Kf4 Kc7!=  

                5...f5  6.Nc4!  try 6.Nd5? f4 7.Ne5+ Kc5 8.Nf3 Kc4! 9.Ne7! Kd3 10.Nf5 Ke2  

                11.N5h4 Kf2!  12.Kf5 Kg3!=  

                6...f4  7.Nce5+ Kb5  8.Nf3+/- 
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 1.Rc4+!   try  1.Rc5+? Kd8  (1...Kd7 2.Rd4+ Ke7 3.Re4+Qxe4 4.Kxe4 ba-/+) 2.Rd5+ 
Ke7!? 3.Re5+ (3.Re4+ Qxe4-/+) 3...Qxe5 4.Kxe5 ba 5.Rb7+ Kf8 6.Rf7 - main line, but  
2...Kc7!-/+   

1...Kd8 2.Rd5+!   2.Rd4+? Ke7 3.Re4+ Qxe4-/+   

2...Ke7 3.Re5+    3.Re4+? Qxe4-/+   

3... Qxe5+ 4.Kxe5 ba!   4...g2 4.Rc7+!  (4.Rc1? Rh8-/+)  4... Kf8 5.Rc1= 

5.Rc7+  5.Ra4? g2-/+ 

5...Kf8  5...Kd8 6.Kd6! a1Q 7.Rd7+ Kc8 8.Rc7+ Kb8 9.Rb7+ Kc8=  pos. draw  

6.Rf7+ Kg8 7.Rf1 Rf8!   7...g2 8.Rg1! Kf8 9.Bf3 Rb8 10.Bb7= 

8.Rg1 Kh8!  8...Kh7 9.Bg7+! Kxg7 (9...Kh6 10.Be4=) 10.Rxg3+=   

9.Bg4!   try  9.Bg6? Rb8  (9...g2 10.Bf5 Rb8 11.Kf6! Rb1 12.Rxg2 Rb6+ 13.Kf7 Rf6+  
14.Kxf6 a1Q 15.Kf7=)  10.Rh1+ (10.Kf4 Rb1 11.Bxb1 a1Q-/+) 10...Kg7! 11.Ra1 Kxg6-/+    
9...Rb8   9...g2 10.Bf5! Rb8 11.Kf6! Rb1 12.Rxg2 Rb6+ 13.Kf7 Rf6+ 14.Kxf6 a1Q+ 
15.Kf7= 

10.Rh1+!! - point,  10.Ra1? g2 11.Bf5 Rb1! 12.Bxb1 g1Q-/+   

10...Kg7  11.Ra1 g2! 12.Bf3/Bh3 Rb1   12...Rb5+ 13.Kf4 (13.Kd6?) 13...Rb1-main line 

13.Rxa2 g1Q 14.Rg2+! Qxg2   14...Kf7 15.Rxg1= 

15.Bxg2 Rb6! 16.Bb7!=  (16.Bf1?) 

                                            struggle against black passed pawns 
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               1.h7   1.Rxc1? Rxg6 2.b7 Rg2=  

               1...Nxh7! 2.gxh7 Rg2+   2...Rh8 3.Rxc1 Rxh7 4.Rb1+/-  

               3.Kd1!!   try  3.Kf1? Bb2 4.b7 Ke3! 5.b8Q  (5.Rg1 Rf2+=) 5...Rf2+ 6.Kg1 Rg2+ 

               7.Kf1 Rf2+ 8.Ke1 Re2+ 9.Kd1 Rd2+ = 

               3...Bb2  4.b7   4.Re1+? Kd3!=   

               4....Ke3!  5.Re1+!   try  5.b8Q? Rd2+ 6.Ke1 Re2+ 7.Kf1 Rf2+ 8.Kg1 Rg2+ 9.Kf1 

               (9.Kh1?) 9...Rf2+ = 

.              5...Kd3  6.Re3+!   6.Re2?! (6.b8Q? Rd2#) 6.Rg1+ Re1 7.Rg2 - loos time   

               6...Kxe3  7.b8Q Rd2+  8.Ke1 Re2+  9.Kf1 Rf2+ 10.Kg1 Rg2+ 11.Kh1!+/-. 

                    Double free:  king line  «e» for the Rook  and  Rook square «h1»  for the 

                    king,  thematic try. 
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                1.Rb2!    1.Rb1+? Rf1 2.Rxf1 Kxf1 3.Qf5+ K~=  

                1...Qe3  2.Rb1+ Rf1      2...Kf2 3.Qc2+! (3.Rb2+ Kg1) 3...Qe2 4.Qc5++/-   

                3.Rxf1+ Kxf1 4.Qf5+!    4.Qxf7?  (4.Qb1+? Ke2! 5.Qa2+ Qd2=)  4...Qf4! 

                5.Qxf4 Nxf4 6.g4 Kf2 7.Kf7 Kf3! 8.g5 Ke4!=  

                4..Nf4  5.g3!   try  5.Be5? Qxe5!  (5...Kxf2? 6.Bxf4! Qd4 7.Qg4 Kf1 8.Qf3+/-) 

                6.Qxe5 Ng6+ 7.Kxf7 Nxe5+=  

                5...Qxg3  6.Be5 Qg5!   6...Ke2 7.Bxf4!+- (7.Qxf4? Qxf4=) 

                7.Qxf4+!   7.Qxg5? Ne6+ 8.Kxf7 Nxg5+=    

                7....Qxf4  8.Bxf4 Ke2  9.Kxf7   9.Ke7? Kd3=  

                9...Kd3  10.Bc7! Kc4  11.Ba5!+-  

                      tactical game around  square «f4», two echo-sacrifices black Q 
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                   1.g6!  Qxg6   1…Qh5  (1…fg 2.Rc4+ Kh3 3.Be5+/-)  2.Rc4+ Kh3  

                   (2…Kh5 3.Rxh4+Kxh4 4.Rh2+Kg4 5.Rxh7+/-) 3.Rxh4+ Qxh4 4.Re3+ 

                   Kh2 5.Be5+/- 

                   2.Rc4+ Kh5!  2…Kf5 3.Re5+/- 

                   3.Rxh4+ Kxh4  4.Rh2+ Kg4  5.Rg2+ Kf3!  5...Kf5 6.Rxg6 Kxf6 7.Bxb4+/-   

                   6.Rxg6 bc!   6…fg  7.Bxb4+/-  

                   7.Rf6+!! - point,  try  7.Ra6? cd  8.Ra1 e5! (8…Ke3 9.d4! Kxd4 10.Ke2+/-) 

                   9.Rd1 Ke3= 

                   7…ef  8.dc +/- 

                   paradoxical idea in the final of study:  to goal the white should sacrifice 

                  Rook,  while  with an extra Rook white have only draw. 

 

                                                         

 


